.
0 e e e e e e = = -
L #ME . ExRFRH (SWCH)
RENE: 2=/ O0—LAyFEE
B ¢ K Me L:E:é( N BE . 4. 8
L 3;% 7/;/% K B C e 3;% 7/;/% K B C

B22-0408 M4X8 0.7 2.8 7 8.1 B22-0545 | M5X45 0.8 3.5 8 9.2
B22-0410 | M4X10 0.7 2.8 7 8.1 B22-0550 | M5X50 0.8 3.5 8 9.2
B22-0412 | M4X12 0.7 2.8 7 8.1 B22-0608 | M6X8 1.0 4.0 10 11.5
B22-0415 | M4X15 0.7 2.8 7 8.1 B22-0610 | M6X10 1.0 4.0 10 11.5
B22-0416 | M4X16 0.7 2.8 7 8.1 B22-0612 | M6X12 1.0 4.0 10 11.5
B22-0420 | M4X20 0.7 2.8 7 8.1 B22-0614 | M6X14 1.0 4.0 10 11.5
B22-0425 | M4X25 0.7 2.8 7 8.1 B22-0615 | M6X15 1.0 4.0 10 11.5
B22-0430 | M4X30 0.7 2.8 7 8.1 B22-0616 | M6X16 1.0 4.0 10 11.5
B22-0435 | M4X35 0.7 2.8 7 8.1 B22-0618 | M6X18 1.0 4.0 10 11.5
B22-0440 | M4X40 0.7 2.8 7 8.1 B22-0620 | M6X20 1.0 4.0 10 11.5
B22-0445 | M4X45 0.7 2.8 7 8.1 B22-0625 | M6X25 1.0 4.0 10 11.5
B22-0450 | M4X50 0.7 2.8 7 8.1 B22-0630 | M6X30 1.0 4.0 10 11.5
B22-0508 M5X8 0.8 3.5 8 9.2 B22-0635 | M6X35 1.0 4.0 10 11.5
B22-0510 | M5X10 0.8 3.5 8 9.2 B22-0640 | M6X40 1.0 4.0 10 11.5
B22-0512 | M5X12 0.8 3.5 8 9.2 B22-0645 | M6X45 1.0 4.0 10 11.5
B22-0515 | M5X15 0.8 3.5 8 9.2 B22-0650 | M6X50 1.0 4.0 10 11.5
B22-0516 | M5X16 0.8 3.5 8 9.2 B22-0655 | M6X55 1.0 4.0 10 11.5
B22-0520 | M5X20 0.8 3.5 8 9.2 B22-0660 | M6X60 1.0 4.0 10 11.5
B22-0525 | M5X25 0.8 3.5 8 9.2 B22-0665 | M6X65 1.0 4.0 10 11.5
B22-0530 | M5X30 0.8 3.5 8 9.2 B22-0670 | M6X70 1.0 4.0 10 11.5
B22-0535 | M5X35 0.8 3.5 8 9.2 B22-0675 | M6X75 1.0 4.0 10 11.5
B22-0540 | M5X40 0.8 3.5 8 9.2

=]

7 =X — = A
P 008,115 th Trusco FSAOMWREER |*° 2=vo0—sxmrir |®F B22-0000

B0




